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1806,3 M = sivvvrievernrnrarararensssneneesss NM

93cm 2 dam = ..ccveiereremrirrrrennee M

74,67dm 82,3 cm = ...cviriririrnrnnnnnns mm

32,4hm8,7km 123 m=.eereerreen dam
------------ ® S ypobd ® -----mmmmm-

490 g =i cg

1625Kg 170,6 q = ceurermeeereeereeseeen hg

65,01dg3,4dag=....cccevurrucrnrrennn. kg

7,04 hg 108 G = cuvveeeeeeeeeeeeeeresereens t

657,4cg 82,44 g=..ccccciviiiniiniinnnen dag

------------ ® aalwall yolis ® ------------

0,3491 hm?296,5a71ca =..ccoeeeveececemnnnns m?

762 m? 7,5 km? 3042 dam?=......c.ceuenu... Km?

0,86 km? 507 dm? 276 dam? = ................. hm?

0,238 hm? 271 cm? 20000 mm? =............. dam?

9,58 hm? 5000 m? - 75 dam?=.....cceeenrun. m?

———————————— ® aouwllg paall yobd ® ------------

8,25 m* 91,77 dm® = ....eerreerereeeeneene dl

551 dm?® 71 dami = .....cooevuiiiiriniieeens m?

450 cl8T L= e er e hL

736,1cm3 21,4L = e dm?

4,006 M3 3,5 Cl= i dal
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1,76625 = 1766,25 |

wjill agw
(1766,25 + 5)x 3=1059,75
wjll goi
1059,75 x 32,60 = 34547,85 DH
o - 2 alwo

ogdl 1o aojWl clall &uas
1800 x 35 = 630001 = 63 m?

obi 3 Jua ojWl clo)l pan
63x 3 = 189 m?

aaluwoll
4x4x3,14=50,24 m?
glaj) Ul
189 + 50,24 = 3,76 m
L - 3 alwo
Jigal
2,5 cm =0,25dm
Lol
0,25 x 0,25 x 34 = 2,125 dm?®
vigl
2,125x7,8=16,575 kg
e 4 allwo
Jigal
6272 1=6,272 m®
6acld)l aalwo
2,80x2,80=7,84m2
<lall glaj)l
6,272 +7,84=0,8m
eall glaj)l
(0,8+2)x5=2m
i - :5 alwo
glaull
6+2=3m
claj) Ul byl &l
(6+4) x3 =45m
alily yjill aas
3x3x3,14x4,5=127,17m?
b il aos

127,17 m*= 1271701
(3x3x3,14x6x3):4=127,17m3 g

345 dm = 34500 mm

1806,3 m = 18,063 hm

93cm 2dam =20,93 m

74,67 dm 82,3 cm = 8290 mm

32,4 hm 8,7 km 123 m = 1206,3 dam

490 g = 49000 cg
1625kg 170,6 q = 18685 hg
65,01 dg 3,4 dag = 0,040501 Kg
7,04 hg 108 q = 0,108704 t
657,4 cg 82,44 g = 8,9014 dag

0,3491 hm?96,5a71ca = 10687,5 m?

762 m? 7,5 km? 3042 dam? =7,804962Km?

0,86 km? 507 dm? 276 dam? = 88,760507 hm?
0,238 hm? 271 cm? 20000 mm? = 23,80047100 dam?
9,58 hm2 5000 m? - 75 dam? = 93300 m’

8,25 m* 91,77 dm3 = 83417,7 dl
551 dm?® 71 dam3®=17000,511 m?
450 cl 81 L =0,8550 hl
736,1cm®21,4L=22,1361 dm?
4,006 m* 3,5 cl = 400,635 dal

3+4 =0,75m

waso jiall ol
0,75x0,75x 3, 14=1,76625 m?






